












Darwin formed his idea of natural selection (by the survival of the fittest) to explain how this 
might happen. He suggested that there was one type of finch to begin with. As the numbers 
of finches rose on the island, food became harder to find. By chance, some finches were 
born that had slightly different beaks. If these beaks helped them to eat a different kind of 
food, which the others couldn’t eat, those birds were more likely to thrive and live long 
enough to reproduce. They became ‘the fittest’. Any offspring that they had (with the same 
slightly different beak) would also thrive and reproduce.   

Thus, the new type of finch began to establish itself.Thus, the new type of finch began to establish itself. There were many different potential food 
sources that were not being exploited by other animals so, gradually over generations, many 
finches that were born with different beak types by chance had the opportunity to thrive there. 

There is always  variety amongst animals (or plants) of the same species.There is always  variety amongst animals (or plants) of the same species. Think of any 
animal: some are taller, some are faster, some have darker hair or are ‘more attractive’ to the 
opposite sex. In an ever-changing environment, there will be moments where one animal 
fares better than another because of its ability to thrive and reproduce in a particular 
environment. If this happens, then that animal might have an advantage and be more likely to 
survive to reproduce than other varieties. Thus, more of that variety might end up in a 
population. In extreme circumstances, where an environment changes to such an extent that 
only that one variety survives, a species could change from mostly one variety to mostly only that one variety survives, a species could change from mostly one variety to mostly 
another. Thus, the species evolves.

In ‘The Molliebird’ story, the environment changes drastically as a result of a forest fire. Bright 
blue birds are now clearly visible against the sooty backdrop and more likely to be eaten by 
the tree snake, which hunts by sight. The first two mates (and batches of offspring) are bright 
blue. But when The Molliebird mates with a bird, that, by chance, has some darker blue 
plumage, she has a chick that is much darker than normal. The darker chick has the 
advantage of better camouflage in the soot-covered forest that is regrowing with darker 
species of plants and so that darker chick survives. Any other chicks that The Molliebird has 
with this same mate might be darker too and the dark chicks may grow up and have darker with this same mate might be darker too and the dark chicks may grow up and have darker 
coloured chicks themselves. 

In a darker coloured forest, these darker chicks are more likely to end up being the type that 
survive the best and become the most numerous. They may end up as the most common 
variety of their species as all the others are easier for the tree snake to find and eat. Thus, 
The Molliebird’s species evolves.







Can you see The Molliebirds?

How many can you see?

What is the monster?



How has the forest changed?

Can you see The Molliebird now?

Why are the chicks bright blue?

If she had more chicks with this mate, what might they look 
like? Would they all look like that?

Do you look like your siblings?

How many birds have been eaten? How do you know? 
(Hint:How many lumps are there in the snake?)

Why do some of the birds get eaten?

Why didn’t The Molliebird get eaten?

Is there anything The Molliebird could have done that 
might have worked better than coating herself and the 
eggs in mud?

What is The Molliebird thinking in this picture?

How did The Molliebird try to solve the problem?

What do you think of that idea?



If The Molliebird had more chicks with the third mate, what 
might they look like? 

Did The Molliebird choose to have darker chicks?

Which birds might live long enough to have chicks of their 
own?

Why are there lots of darker chicks at the end? 

The book says that The Molliebirds lived with their 
brothers and sisters and cousins and aunts. What would 
the brothers and sisters look like? 

How has the forest changed from the beginning to the end 
of the book?

Darwin talks about natural selection by the survival of the Darwin talks about natural selection by the survival of the 
fittest. What does ‘the fittest’ mean in this scenario?

What natural event has happened to make them the 
‘fittest’?



Can you roll your tongue?  Y/N

    Y         N

    Y         N

Have you got a ‘widow’s peak’ hairline? Y/N



    Y         N

                Y 

                Y 

                Y 

ring index

When you fold your arms, is your right arm on top? Y/N

Clasp your hands together – is your right thumb on top? Y/N

Is your ring finger longer than your index finger? Y/N

Is your earlobe attached at the bottom? Y/N

Does your thumb bend backwards at the tip? Y/N

    Y         N





eaten eatenfittest

“This one is the fittest because it 
can easily camouflage into some 
leaves.” Year 6 child
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